1/0 do/dN

Ratio to ATLAS

10

[EEY

0.5

Rivet 3.1.10, = 3.4M events

7000 GeV pp Soft QCD
:_' I T I T I I | T I I T I T I T | T I '_:
— Multiplicity )\_OO (charged only) (track jets) —
B ) :i:::::ﬁh\_i\\ |
= 5 TR =
= e =
- m/ (LN =
— 4 > *!\ ]
@ \‘E‘] . ]
= IS =
— m\ \\!\ p—
— = 8

B ATLAS
= --O-- Herwig++ 2.7.1 default 3
— —-3-- Herwig 7.2.1 default E] -
E | | | | | | | | | ' | | :E
: T T T T | T T T T | T :
- B R N
/@"———@—__é %s- < @_____@ - T
- Y
L Koy Bl o
} b -
o
@ 1 1 1 | 1 1 m 1 | " 1
0 5 10

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


